Week 6 — Lesson 1 — Multiply Unit and Non-Unit Fractions by Integers

Multiply unit fractions by an integer

o Complete the calculations.

Use the bar models to help you.

C)sxs-D g) 8x“ D
l l l_ l_ 1 - 1 =
S+S+5-D 3x5- d)9X1o-D h) 11X10-|j

of ] [ 7 J 1T I |
1 1 1 1 1 Match the addition to the equivalent multiplication.
—+—+—+—=|j 4x—=|] o
7SR 7 S 7
o I I
dededede | = s
| [ [ N U I
=
I T 7*1'—0=D
%+%+% Zx%
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o A pizza is cut into sixths. o Complete the multiplications. g)

Jock eats five of the slices, ) 1 xo
a W m— =
Write o multiplication to represent this. 10
k.4 = l [ —4
B) 11 x g
) %x Mn=| |=
o Complete the multiplications.
1
Use the number lines to help you, d) 11 = 7= =
Give each answer as an improper fraoction and s o mixed number.
a) e) 11 x %= =
|/--_-K
r‘ ¥ ¥ lﬁl ¥ ¥ } I I | \ What do you notice? @
I I 1 | I I I I I I I Does this pottern continue?
1] 1 2
] o Complete the colculations.
B % = |:| =
. 1.2 1 =13
— a) x3=3 €) g * =1 3
: &/
1. 1_31
] * 3 =1 fi ® 3 = 32
| | | | | | | | | | |
[ [ 1 1 I [ [ I | | | 1 1 1
0 1 2 c) ® ? =1 g} S E = 35
1
9w —= =
5 1 -3 1 =31
d) 7 =1 = h}) 3 * = 34
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Multiply non-unit fractions by an integer

o Complete the calculotions.
Use the bar models to help you.

A N N B A

What do you notice about parts ¢) and d)? Taolk to a partner.

&

"
v

o Complete the multiplications.

a) 2x%=ﬂ

3 _
b]i:n:”-
2 _
4] "ui’l-

2
d) 5x 2 =
T

Explain the mistake that Alex hos made.

2
o A cat eats 75 of o bag of biscuits o day.
What fraction of the baog does the cat eat in 4 doys?
)

The cot eats

of the bag in 4 days.
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o Complete the multiplicotions. @ o Complete the multiplications.

Use the number lines to help you. a) 5 x 2 B
Give each answer as an improper fraction and as a mixed number. 3
a)
4_ -
b) 4 x == =
| | ] | | ] | | |
I R R A B f}—*”=‘=
i} 1 2 3
7
E d) ax?’ = =‘
3 _ _ 9
3 F 4 ? - =
2
17w == =
AT
b) o
f) Describe the pottern you con see in the answers. @
gl What could the next multiplication in the pattern be?
TR I R e Write two possible options.
T 1 1T 1 L [ [ [ [ T 1
Q 1 2 3
3 = =
L g =
o Here are some digit cords. @
o)

1 3 5 7

Use the digit cards to complete the multiplication,

r r ¢ & @7y || | | |
1T 17T 1T 1T 1T T 11 I I I 1T 1
0 1 2 3 15

4 = =
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Week 6 — Lesson 2 — Multiply Mixed Numbers by Integers

White

Multiply mixed numbers by integers @ ax2]
: : | I T T
) =[|= T T [T
. N [ s
o Complete the caloulotions, ] . '\_‘ I O
o) 4% 11 o
A== COEEE I o Complete the multiplications.
4 O O] o) 3x82= @ axed =
"5 EEEER T
+ﬂ_ DEEEE I b) 2 x 122 9 22 x12=
b) ax2] 9 62 xa= f 37 x8=
s O OO OTTT What i the same and whaot is different about your answers?
ax D D DR EI
D OO LI
+ﬂ. EEEDD EEDEEE BT
:]4:2% e ﬂnebugufpututuesmiglﬂ1%kg. .
How much do 5 bogs of potatoes weigh?
" B | OO0 OO0 O
" [ N OO 1
0 O O T1
+ = O T 107 D
kg
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° Complets the caloulations. o Eva drinks 3% litres of water a day.

2 10 Haoww many litres of woter does she drink in o week?
a) 5w Ii =10+ 3 =

3 _ _
h]4?x5_20+ =
|

1 o Here is o recipe for o birthday coke. I_‘_‘_‘_‘_‘——l

djy T7=3—= + = 3
5 Bl.ltl:eri-gkg
_ 5 3
e) 42 x8- + = ugar 1 75 kg
3 I Sil_f-m_is' 1
ing flour 2 - kg
&
sl —

a) How much flour is needed for 3 birthday cakes?

s

b} Dora mokes 4 birthdoy cokes.

How much more butter does she use than sugar?
Do you ogree with Ron?

Explain why.
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Week 6 — Lesson 3 — Fractions of an Amount

Fractions of an amount

o Annie and Mo are finding froctions of amounts,
a) Annde is trying to find % of 45

She draws this bar maodel,

How does the bar model represent the colculation?

What is - of 457

5
B) Mo ks trying to find %nf 45
45
S~ ! -
—'_J

How daoes the bar model represent the colculotion?

What is % of 457

) What is the same ond what is different about Mo and
Annie’s guestions?

o Complete the caloulations.

1 i

—of 27 = by —of?2 =
a) 3 }31:-

2 1

Zof 27 = —of 72 =

3 6

3 a _|

aﬂf'l?: 12 af 72 =

Whaot patterns do you notlca?

@

o Match the calculotions to the correct amounts,

of 50 =

o e

3 -
BI:le«lil_

5

El'.lf'“- 32

2 of 48

3 A
!4]] 3 of 48 30
o 3
! ﬁ Eﬂf-ﬂﬂ 36
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o Write <, = or = to compare the calculations.

bl

5 5
%nfsﬁ () g of 56 €} % f63 C)anrm
4 3 T 3
7 of 56 O g of 56 diqg nf:snO?nfaﬁn

165 children and adults go an a schoal trip,

Twz thirds of the people are children.

a)

bl

4

How raony adults are on the school trip?

% of the childrem are boys.

How mony boys are on the school trip?

% of the dhildren hove an apple for lundh.

Howw rmany children do not hove an opple for lunch?

° Tick the odd one out.

%ufm %ﬂ'f‘lﬁﬂ %ufﬂtl %ufmﬂ
Explain your cheice.
._.-'"'-.__'
o 320 people were asked about their fovourite Tlaveur of ice cream. ﬂ

Here is a pictogram showing the results.

- |PPPPY
e |PPPHP
socen | 36353

oo | 363 1363 £ 63 (3

a) How mony pecple chose mint chiec chip?

b} How mony more pecple chose vanilla than chocolote?




Week 6 — Lesson 4 — Fractions as Operators

o Complete the calculations.

u)%n12= 9 12x§=
1 2
ED’FIZ! in‘|2—D

1_ 3 _
h)12xz_ d) 4X12-

Fractions as operators

%G'F'lln %nf12=

llﬁ:—: [
3 3 What do you notice? g

b) Work out %of 6

[ 0 o Tick the caloulation in each pair that is easier to work out.
: a) | 1.7 Lof7
—of 6= - = 5 5
3
) What is the same about these calculations? \ B 1.1 1 of 10
5 5
d) Work out% of &
’ L
=of6= B x 2=
3 4] E 3
g x 10 3 of 10
2 4
e) Work out 3 6 |
3 3
2
=nh= -
| | | 3 O .
| | | | Compare answers with a partner. @
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o Complete the calculations.

a) %mz: e of12=

b) %xl-i- — of2a=

o
~|pa
®
I

of 28 =

o A bar of chocolate has 5 equal pieces.
The whole bar weighs 1204.

1209

How much do three pieces weigh?

a) Write two calculations that will give the answer to the problem,.

b} Work out the answer,

Three pieces of chocolate weigh

o Teddy and Annie are working out % w2

a)

. , 3 2
[ will multiply 42 by Vi -
@@

Lse Teddy's method to work out the calculation,

b)

@ Lwill find 3 of 42

Use Annie's method to work out the colculation.

¢) Whose method do you prefer?
Explain why.

d) When is it easier to find fractions of amounts rather than
multiply fractions?

Give some examples for each method. y




Lesson 1 ANSWERS

o Complete the multiplications.

1 1 1 &
al 3x—=|" e) —=4d=
ﬂ 5 1"

a_(3 1 =| ®
h}i:m_m ﬂg:B_ 3
o Corr PlEtE the calculations,

Use the bar models to help you. QI = )
e ar mode elp you \) tl%ﬂ5=£ g}Bs%=

Multiply unit fractions by an integer

77770 Zz77Za0 77773 | |
o N E doxto| h L x10=
ststs” 5715 ol e ; -

227772 | ]

=
|
4=
|t

_ 4x 1 o Match the addition to the equivalent multiplication.
= 7=

Lt | =

/774 vzavzAvzZAc A

Y

Sl x| Lo
* AT V||%|||| -
1 1 1 1 1 1 1 1 - o E+E
R R T I T T T I T I ﬁ'
)




—
o A pizza is cut into sixths. o Complete the multiplications. '@

lock eots five of the slices. 9
a MM=x—-= = =
Write o multiplication to represent this. s h
S ] [ 5 ]
S |x| +[=| 2 I_[W -] 2
J h} T 9 . 1
1 M [l 3
o Ex1l_ £ |'%
o Complete the muliiplications. —
1
Use the number lines to help you. d) 1= 7= |= !
Give eoach answer as an improper froction and as o mixed number,
II] a) 11 l = =
Y Mxg=11 L
rwm What do you notice? '
| | | | | | | | | | |
I I I | I I I | | I | Does this pottern continue?
1] 1 2

3 J. o Complete the calculations.
Bx —= | _ I|
5 |5 - 1_2 1] | 3
) A £ L. \ =12
a) | | [= 353 a) 8" \ 1 8

' s

~ R |
by | :':3_1 ) 3 xz 32
I/W—\:’I | | | | | | |
| R Tl el sl
0 1 2 Al Jxg= 9 | 10 |x3=33
1 - | A
Gux—= 5 = Hg I —
5 a -~ =13 1.2 [=31
d}?x O _'I_J|I h} x| 13 -3IIII
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Multiply non-unit fractions by an integer i €) complete the multiplications.

3_|6& 2 _|n
“}2“?' d} Sx47=|=

3 |4 2|
h}SMH— e) TRl =
o Camplete the cdleulations.
Use the bar models to help you. ELI 2 2 7 "
\-) 9 qyxd= B oex2=

A A a1
°
AV I A A 71737 1R

¢
+ % + % = _1-' Ix %: Exploin the mistoke that Alex has made.

d| b
| b

olw

Ch Y r k i : vl e

W2 /8 27 7z VA e
+§+§+§. 4,%.

d}|%|m|m|;%‘/ﬁ| | | | | | o Acnten‘ts%nfuhﬂg of biscuits o day.

What fraction of the bag does the cot eat in 4 days?

& 4 | B
= 2):;: q ﬁ

Whaot do you notice about parts <) and d)7 Talk to a partner. '@
i 2
The cat eats of the bog in 4 doys.
& White Rose Mathe 2018
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o Complete the multiplicotions.
Use the number lines ta help you.

Give each answer as an improper fraction and as a mixed number.

a)
| | | | | | | | | ]
| I I I I I 1 I
[i] 1 2
3 s
3KE== J;
)
N YT YT )
Ly
| | | | | | Y L1 | | | | | |
| | I 1 | 1 | | | I | | 1 |
4] 1 2
! 2
dx== él 2—5
o)
//_\/—k\//{f—'_'_“‘.._‘h\
| | | | | | | 1 | | | | [ |
| | I 1 | | | 1 | I I I i I
[i] 1 2
e | A n
3:%: 5= _.'—rJ

s

e Complete the multiplicotions.

e) 1?x%=m= ,_?)-III

f) Describe the pattern you can see in the answers. rg
g} What could the next multiplication in the pottern be?
Write two possible options.

5
eq iy *
|

L1
|O A |3

o Here are some digit cards. 'd

i 3 5 7

Use the digit cords to complete the mubtiplicotion.

3 7

w5

5
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Lesson 2 ANSWERS

Multiply mixed numbers by integers

o Complete the calculations.

u}4x1%
ax1=| [TTTT]
4’1=E EEEEE
s EEEEE
) += L [T

b

b) 4 % 2
“x2= 11 [OII11J
| 5] I e —
1T (T
j+-3; [0 [

2

:}4:2?
Y g [T (I
H E ;| CEEEE EEEE

3 |15

I (O
3 J13 1192 | e o

L|*[2]|=| 3 (N )y o

- E 3 | I ) ()

0% N ) o e |

8 [*|23

3
o Complete the multiplications.

g— 3 = I
@) 3x85=0L4 d) 4x625=|01 0%

2 2
b) 2% 12:5=|0(, § € 250 x12=(0, 1

1
l:}5,|2—1x11= ak ﬂ3ﬁ“g'3‘-‘-&$

What is the same and what is different about your answers?

M_M_Lﬁﬂnwu_m

One bag of potatoes weighs 1 % kg.
How much do 5 bags of potatoes weigh? .

2% kg
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o Complete the calculotions.

a) sx2%=m+$= 134

b) 4%x5=2ﬂ+ 5 |=[224

g Lty
4] Bx2ﬁ= e |+ 72 |= |"-|J3-I

d}n;%- 2 |+ & =022

@ 42x8= 30 [+ ¥ |=]333

3. 33
f‘,l1‘|:u:4m_ L |+ 3

5x3%isequaltn
2
3"‘5ﬁ

Do you agree with Ron? Lo

Explain why.
5x3wn =15 %
35k =154

o Eva drinks 3% litres of waoter a doy.

How many litres of water does she drink in a week?

o Here is a recipe for o birthday caoke. 3
Butter 1§ kg

Sugar 1 1§E kg

> [Tl
6 eqgs

_

a) How much flour is needed for 3 birthdoy cokes?

b) Dora maokes 4 birthdoy cokes.

How much more butter does she use than sugar?

kg
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Lesson 3 ANSWERS

Fractions of an amount

o Annie and Mo are finding fractions of amounts.
a) Annie is trying ta find % of 45

She draws this bar model.

i ™

k_'_z

?

How does the bar model represent the colculotion?

What is % of 457

b) Mo is trying to find % of 45

How does the bor model represent the colculotion?

what is % of 457

) What is the same and what is different about Mo and
Annie’s guestions?

L

[ ]

C

C

C

o Complete the colculations.

u}%DfE?- | hl;—uﬂz- 9

of 80 =

| =

otyz= %ufﬂl]:

1 _ 3 _
Euf?l_ gufBD_

Whot patterns do you notice?

32

30
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o Write <, = or = to compare the coloulotions. o Tick the odd one out.

3 3 2 3
5 5 2 5 3 of 80 3 of 160 3 ot 90 3 of 100
o) 3 of 56 @ g of 56 o 30f63©§crf54 4 & 3 4

. . Explain your choice.

4 a x El

bl 7 of 56 O H_'J'F =6 d]1ﬂu+350© 7 of 350 Ve L i 8T S

o 165 children and adults go on a scheal trip. o 320 people were osked about their favourite flavour of ice creom, u
Twao thirds of the people are children.

Here is a pictogram showing the results.

wonilla Q gg Q @ 9
| . ] strowberry f;a E:B f;a g} g}
b) %uf the children are boys. chocolate E:? 6:3 E:?
How many boyus are on the school trip?
mint choc chip Q Q Q E;? g:? ﬁ:g E;?

a) How many people chose mint choc chip?

a) How mony adults are on the school trip?

€) % of the children hove an apple for lunch,

How mony children do not hove on apple for lunch? )

b} How many more people chose vanilla thon chocolote?
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Lesson 4 ANSWERS

Fractions as operators

o a) Work nut%x [

(77772077777, | 77777 |

wzr77721177720. 177072

b) Wark out % of 6

of 6 =

-
L=

d | =

3

=1 2

¢} What is the some about these calculations?

d} Woark out % of &

2 N
iﬂf5=||:_] +

(F5]

x 2=

,
. |

e) Work nut% x B

V7772278V 777772

27777 |

wzzn \yzz2n \pzze ]
Wrepye | gpien

vz

ptpvn | v te itk

ntt)

=

Y

o) ly12=

b}

What do you notice?

o Complete the calculations.

3

fy

%O‘F'll:.:‘

1
12x—=| "
*3

5
1 N
qu12=_3

Tick the calculation in each pair that is easier to work out.

a)

b)

c)

d)

%x?

/

4

—= 10

3
== 10
55':

3
10 %

1
501‘?

1 g
2 of 10/
50

3
50‘1‘/1‘(

3
ﬁnfﬁ

Compore answers with a partner.

£ White Roge Mothe 2019

-



o Complete the calculations.

u}%xu---‘:..u‘fu-
(o]

3 _ =21 _| e

h}4¥€24—=0‘f2d— ":3

2,
c]%x 28 (= of 28=| &

"
I
un
]

[IFY

A

]
(WS ]
r

o A bar of chocolate has 5 equal pieces.
The whole bar weighs 120g,

120 g

How much do three pieces weigh?

a) Write two calculations that will give the answer to the problem.

= o¢ 120 -‘ <10

b) Work out the answer.

Three pieces of chocolate weigh | = <9

o Teddy and Annie are working out 3 w42

7
a)

[ will multiply 42 by % @ @
R =]

Use Teddy's method to work out the calculation.

|
| &
a
0

e X

&

Use Annie's method to work out the calculotion,

s
4|

b}

£} Whaose method do you prefer?
Explain why.

Vanoun  Qunnesers

d) When is it easier to find froctions of amounts rather than
multiply froctions?

Give same exomples for ench method, g
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